N = 0l & At & Ml A

20199 &= =0 & LS &F

2N SZAILASE A
MM S22 2d
Sl ESSHMLER Bel Y 2Y CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
A EAE A 4,704,384 3,922,734 781,650
= 517,100
Jl 51,970
= 147,301
Al 3,988,013
=sRsttlzsg22d9 434,644 441,568 N6,924
=SR2tz 2 22 ¥ 29 434,644 441,568 AN6,924
FS2s0=a 2 ANEE S 329,600 345,323 N 15,723
201 et 4,000 4,000 0
01 AP 2t 2] H| 4,000 4,000 0
OALBAL ZSEA L HSISHY
2,000,000 x23| 4,000
202 044 1,000 1,000 0
01 2L I 1,000 1,000 0
SHE dX 0L 500,000 *23| 1,000
401 A& HI L 204 HI 297,000 320,323 A 23,323
01 Al&H| 295,452 320,323 N24,871
Otlsa 2 JIHA MCCEFE 1) Xl = At
11,000,000& x624 %99 . 1% 65,406
Ol=z=3& Hsd9E =20 e sS4 g
106,000,000& *99. 1% 105,046
Otlsa a2 243 2222 A 10,000,000 14! 10,000
Ollsal & AYAIE B2 Z At
5,000,000 *23| 10,000
Oflsa& =5 MIISME Bl DA Z2 A
2,400,000 1504 &~ 36,000
Otz ANEX(20, 2%, S&,J1H,&D|
s) 30,000,000 x 14! 30,000
Ofz=3 & & dugtg Nt ae s
M2 & HH&S 27,000,000 14! 27,000
Oflsal& XY 2Hi21 AXIZA
3,000,000& x4 4! 12,000
03 AlE 201 Y| 1,548 0 1,548
O0l=3 2 JIAHA MCC ZHa WAl
66,000,000 *0.9% 594
Ofz=3 & HEHE S0 02 =4 g4
106,000,000 0. 9% 954
405 XHAHF S HI 27,600 20,000 7,600
01 XAt 2 ZF S| 27,600 20,000 7,600
OBHAE 2dg 2401012 2
2,500,000 «8CH 20,000
OUBSY B8 WEZME g
6,000,000 x14! 6,000
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A ZZAIEAY A
A FEEIM=3z122Z
& Ttz 22 2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUZoE WEZHER LE= g
1,600, 0002 = 1CH 1,600
FERa0=s 2 SFF 105,044 96,245 8,799
101 @14 Hl 27,908 20,349 7,559
04 JIZHHZ2XNHEE S 27,908 20,349 7,559
Oflssl& FAZ2(1Y) 27,507
2 66,800 248 16,567
A2+l =& 8,350% *1.5«15A1 2t 1200 & 2,255
=== 66,800& 52 3,474
52 F+E 66,8003 *1.5+52 5,211
Odlzzl2 =8 M= & =2 &g
66,800 »2H +x3 401
201 LBH2E| 55,786 54,546 1,240
01 At 22l 8,936 8,936 0
OO0tz & AN MHE 2R A =2l
8,000 56 123|121 & 5,760
O&F=J o=z 48,000 x1201 & 576
OgBt=&H| 2,600
02 =224l 46,850 45,610 1,240
OZoH Wy ozl
1,300 x1602| & 120 24,960
Oagotdae| It & fISS2elt 223
100, 000& * 13| 100
OnNgE U HBAE AHAAN =5
100, 000& * 13l 100
Otl=sl2 BtE EA 5,000,000& »23| 10,000
Oul=3l& EAt AIEEHl |XIHI 3,000
Oll=sla gAAS 500, 000& *53] 2,500
OOlZ3l2 X8 DA HINBM 248
950,000& *13] 950
Ost=2stol=sl& AEsIHl 5,000,000 *13] 5,000
Otlssl & =HEsl A3l 240,000& x13] 240
206 M= Hl 21,350 21,350 0
01 =8l 21,350 21,350 0
Otlzzl& 228 ME PL(ELEE, 3EX
g) 300,000& »12& 3,600
OJIAANE X228 e 2 600
O&IINE RA22E Mg ¢
20,000 * 1004 2,000
OXZAE RA22E Mg ¢
200,000& *303| 6,000
OSEANE RA22E Mg ¢
350,000& x213] 7,350
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A ZZAIEAY A
A FEEIM=3z122Z
Sl ESSHMLER Bel Y 2Y CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAEAE RR22E WHE 7Y
10,000& 60K 600
Ot 4t szl Ha 7Y
100,000& =122 1,200
2F0|e Bs el 1,358,554 1,126,538 232,016
< 28,000
Al 1,330,554
22X ZH 2 2tel 454,916 595,376 A 140,460
< 28,000
Al 426,916
22X AIEEFHI 309,176 424,356 A 115,180
101 @124l 4,726 4,106 620
04 D12t 22 HEE =+ 4,726 4,106 620
HALZ 2, HE 2 HLAXH(ES
ers) 118, 130& »4H x 102l 4,726
201 et 25,450 25,450 0
01 At 2teltl 600 600 0
OuEL=2ZX KXot =Z2BA =2
150,000& 42 | 600
02 232gHl 24,850 24,850 0
Og3 22X AEZH |RXH 350,000& *253] 8,750
OuEAICI2ZAI A&EE S X4
300,000& =123l 3,600
O2=AE28 HALAEH(6HA)
1,000, 000& *83| 8,000
OnELI2ZR =Xl 283 A
500,000& *23| 1,000
OZ&xd S A&ZEH |XHl 700,000 *53] 3,500
206 = Hl 10,000 8,800 1,200
01 M2 4l 10,000 8,800 1,200
OZSSsH&A ARF(LHIANE HHIIMHY
B NSEZEEH,JE 228 ) 7
50,0003 *4Z 104 & 2,000
OZZX Jt2s Ze| MIIM= (Lo =, Xtet
a) =< 30,000& *80IH+10,000& 604 3,000
OZ&X =4 or2rZ2=xY 22l I MEZ(LED
gm) 1 50,000& 1004 5,000
401 Al HI K 2018 269,000 386,000 A 117,000
01 A& Bl 266,095 382,642 A 116,547
OZ&X 23 ANEE8 B3 M
50,000, 000& *98.92% 49,460
Ot 22 ZLAY 10,000, 0002 *98.92% 9,892
Og3&2X st&EA It S I ZA
40,000, 000& %98.92% 39,568
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A ZZAIEAY A
Hu: @Iy 25 pel
Sl X Il L 2el CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSE=EZ XY HUISA
20,000,000& *98.92% 19,784
Oda2ZX L7 HAEB0ILH M SA
10,000, 000& *98.92% 9,892
OsEE=IZ X5 MM FHSAM
20,000,000& *98.92% 19,784
Oa==& 218 237 32A 10,000,000 *98.92% 9,892
OMAZE IIZ2S TMBA
300,000& *305 *98.92% 8,903
Oug & QA= OB 2xd B HHIS
A 6,000,000& x 1001 2 x98.92% 59,352
OWELAIUZZR HALE LB IT A3 A
10,000, 0002 *98.92% 9,892
Ogd223X &2 022 MEH SA
30,000,000& *98.92% 29,676
03 Al =TI 2,905 3,358 A 453
OZFX 23 ANE28 B3 M
50,000,000& x1.08% 540
O 22 FELAY 10,000,000& *1.08% 108
OgaazX stEL I S FHISA
40,000,000& =1.08% 432
Os8=EXZ =% FHIZ2A 20,000,000 *1.08% 216
OgaaaX 27 HIE0ILH WHIA
10,000,000& *1.08% 108
OsEEL X3t MHZ U SA
20,000,000& 1.08% 216
Oa=k 25 EF3AM 10,000,000& *1.08% 108
OAEAZE 2SS TMHIA 97
Oug & QA= OfLF2XH E=HUISA
60,000,000& *1.08% 648
OuEAMICNZZI FHMEY IILEZ HISA
10,000,000& *1.08% 108
Og322X &2 022 MEZE SA
30,000,000& *1.08% 324
MEOZE A2 FHI 105,740 171,020 A 65,280
201 Zer24] 5,740 5,740 0
01 At 2t 2l 1,200 1,200 0
o2& 3d0l ME A2 R X S &l 840
OgBt=&H| 30,000& 122 360
02 =224l 4,540 4,540 0
OOFI2Th thet & B HABY
610,000& *43| 2,440
OO 8 FAEY 2,100,000& x13] 2,100
401 A& HIZ 2018 100,000 164,000 A 64,000
01 A& HI 98,920 162,920 A 64,000
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A ZZAIEAY A
Hu: @Iy 25 pel
& 22X HH Z 2t (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OArg 2 E oS0 ZZECOE WHMSA
10,000, 000& *98.92% 9,892
OAgZ2E SAZ==U ANE2 EHISA
40,000, 000& %98.92% 39,568
OOl R SHE HIEY FHISAM
30,000,000& *98.92% 29,676
OArg o2& HAIHHE LEDE ZE XIS M
20,000,000& *98.92% 19,784
03 Al 2 THHI 1,080 1,080 0
OMESAZZ OIAR0H ZHECO0E LHMEA
10,000,000& *1.08% 108
OAgZ2E SAZ=U ANE2 EHISA
40,000,000& =1.08% 432
OOl S SHE HIY FHISAM
30,000,000& *1.08% 324
OArg o2& HAIHHE LEDE ZE & XIS AM
20,000,000& *1.08% 216
HS46 SMZ(H282Z) oY AR 40,000 0 40,000
< 28,000
Al 12,000
401 AIEHI L 20HEI 40,000 0 40,000
< 28,000
Al 12,000
01 A& HI 39,568 0 39,568
OZFQIE 0 0l &F Uxy) 39,568
HEM SUZ(HIAEYE) OF2tZY &X
40,000,000 x98.92% 39,568
< 28,000
Al 11,568
03 A& =TI 432 0 432
O S4 SKZ(HAee=Z) of2rxyd &X
40,000,000& x1.08% 432
FEHOtE &H 2 2 796,538 434,462 362,076
ZEH Ot a E+FH| 796,538 434,462 362,076
101 @144 dl 68,798 78,642 NQ,844
04 JI12ZtHNZ2 2 EE 68,798 78,642 A9,844
OXZX =¢ TC, E HEHL
141,5103 x4 42«4 3| 9,057
OxZ+ d=dl A 118,130 4«63l 2,836
OO0t s, =5t 7 P 118, 1303 x4 H +43] 1,891
OFedlotm=a Hl JI2tH 22N (1Y) 27,507
o 66,800 248 16,567
A2tel =% 8,350& *1.5%15A| 2t 128 2,255
== 66,8003 52 3,474
s 8,350% +1.5x8+52& 5,211
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EA HZAA
Hu: @Iy 25 pel
Chel: =SHHI0tHE ¥H ¥ 22 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFEHDIA =5 ¥ 292X JI2tHZ2 2 X
(19) 27,507
ol &t 66,800& x248L 16,567
Al 2HQ| =& 8,350 *1.5%x15A| 2+ 120 & 2,255
=R 66,800& x52& 3,474
s 8,350 *1.5%8x52 5,211
201 et d| 76,620 74,220 2,400
01 AP 2t 2| H| 12,760 10,360 2,400
Ogag &3 HE 10,000 x6= 83| 480
OgBte=24| 2,400
ottt 22 2ZAAH(EZ PH, N 2)
20,000 *7& *23] 280
O=SHIOIHA HAZHO0IH S22 &9
300,000 x2CH x12& 7,200
OZ&H0tota ®2J|&d M|t 22| HEE £
== 200,000& x12& 2,400
02 E=22g%H| 63,860 63,860 0
OCCTV 36 At2= 30,000 1201 & 360
OZ=&H 0o A EII&Hl AI|&HA =22 (300K
W) 500,000 *13] 500
OZ&H0tIIa S A ¥ AS(H238)
2,500,000& x23| 5,000
OFsHl 0t HIEE 4 AE R A (4~108+43])
1,000,000& «7& 43| 28,000
OF&HOIIA @24 =480 HAl 43
HA(4~1189) 1,000,000 83| 8,000
OANZELEHI0 SX&cH & B2
500,000 =1CH 500
OXHEH L AELLEHI0 KFHI
250,000 =2CH 500
OZ&SH 0O 2HE24 2 3MA) AlE
ZHHl & Xl 1,000,000 x4 04 &~ 4,000
OZsHI0ta 2t A&H|(HOHMHEA) AIEH
Hl & Xl d| 1,000,000 x204 &~ 2,000
OZ&HHIOHIFA CCTV Al & &H| & Xl ]
500,000 =12CH 6,000
OFEH 0O A HAZYO0IE A&EH KX
1,500,000 x2 04 &~ 3,000
OFEH0IIA 8J & H2AXHAH AlE &
S Xl gl 1,500, 000& x2A! 3,000
OZ&H 0O A =uf&EEE L MCC AlE UK X
Hl 1,500, 000& x2A! 3,000
206 M = Hl 24,320 23,300 1,020
01 X2 H| 24,320 23,300 1,020
ONEMEHR 2= 2ERY (221G X2, HII,
=82, §5 5) 60,000 x12& 720
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A ZZAIEAY A
Hu: @Iy 25 pel
ool EEHOIIE HHl & 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXIIME FL (X 2 95)
30,0003 100 =105 3,000
OZ&xY Ho P (LEpEE, =55 2 8F)
50,0003 1001 x105 5,000
OH2t&Hl Tt P (HAABHAM HER 2
8F) 100,000& *3IH =108 3,000
Oot&E0 8 ASAZT(HEAMUEE) 7Y
300,000 =700 & 2,100
ONAZHOEH RANE AKX 2
500,000& x2E+3F 3,000
OHAEE & SHEA4MA) HASE
200,000& »12& 2,400
OO0rdat & Hizg +# 10,0003 2001 x18& 3,600
Odols &M 43 10,000& x 1001 x5 500
OHIotIIR RX2elE A28 (M=, =4
, BA, XA E) 20,0003 *50H 1,000
401 AIEHI L 2CHEI 626,800 251,300 375,500
01 A& Hl 621,352 248,888 372,464
OAE 2TES(AH28238, 8 AAIE135,2 &9
EJIBAE , Z88 S)
2,000,000 357 2~ %99. 1% 69,370
OEJAH(HI, S5sHY &) I
800,000 » 1104 & 8,800
OZSHIOHIE STHAIZE=S 2L AHS &Y
10,000, 0002 *98.92% 9,892
OZEHOIIT 227, Ordst 22l s EAAM
& 10,000, 0002 *98.92% 9,892
OZSHI0Ha e =2 =2 & =8 28
2 HEZESA 80,000,000& x99. 1% 79,280
OZSHIOHIIE SAIE 282 JHl SAF
25,000,000& *98.92% 24,730
OFEHOIT 20H(SE), MMHII EL MM
I SA 16,000, 0002 *98.92% 15,828
OZEHOHA AHZS M= SHAS & O
3 E= 11,000, 000& *98.92% 10,882
OFEHIOtI A =2 &4 A
10, 000& *500m=* 14! 5,000
OZEHIOHHa Bt X ALY
11,000, 000& *98.92% 10,882
OZSHIOtIIE s3 & JI12 Ex=3A
45,000,000 *98.92% 44,514
OZeHI0tIE s338 238 &4 &g
15,000, 000& *98.92% 14,838
OFEH 0t =5 d2XY WS A
10,000,000 *23] x98. 92% 19,784
OZEHOHa B&LF =8 BEx=3A
10,000,000 *23] x98. 92% 19,784
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2N SZAILASE A
Hu: @Iy 25 pel
G =SHIO A ®H ¥ 22 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZSHIOIIIA JI2E & B2 A
10,000, 000& 23| *98 . 92% 19,784
OFEH DI SEE E4AME DHSA
10,000, 000& » 141 98 . 92% 9,892
OF&H 0o A or2F2A XY X 3A
250,000, 000& *99. 28% 248,200
03 AlE 201 | 5,448 2,412 3,036
OANE A0E S 2,000,000 3504 2~ *0.9% 630
OZSHIOIA SMHAIEE 2L AH &HHA
10,000, 000 *1.08% 108
OZSHOIIIA 225, Ordig 22 S BAA
& 10,000, 000 *1.08% 108
O=SHI0IHA HEE =g L =8 2
2 MEAE ZA 80,000,000 0. 9% 720
O=SHIOIT SAME 2Z Ul SA
25,000,000 *x1.08% 270
OZSHIOIIIE 20HsS8) ¥ MU S
HEZE ZA 172
O=SHI0I3a AMES XS4 SHAS £ O
3 82 118
OZ&SHI0tIta Bt M X ALY 118
OFEH0tIAa s88 I B SA
45,000,000 *1.08% 486
OFEH0tIA s88 ¢ M ZA
15,000,000 *1.08% 162
OFSHOIA =5 22 XY DHZA
20,000,000& x1.08% 216
OFSHOIA 3&XY ™ BLZ2Al
20,000,000& x1.08% 216
OZSHIOIIIA JI2E & B2 A
20,000,000& x1.08% 216
OFEHDIIA SEFE E5AME DHSA
10,000, 000& *1.08% 108
OF&HI0toa o2t 22 AX| 2 A
250,000, 000& *0.72% 1,800
StESt= 2 HHl 2 22| 107,100 96,700 10,400
StEgtES 2 S22 107,100 96,700 10,400
201 et 9| 51,250 57,450 AN6,200
01 AP 2t 2] H| 26,050 22,250 3,800
OsreEer22 MI|&8H] IS =2
200,000 x12& 2,400
OO0 dAIZE L JIEF™AA HE &K
50,000& x20= 1,000
Ogl2a dASES |2 WL HE
500,000 14! 500
OJI2dd AMREE L A28 28 24|
20,000 *x30=& 600
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SN BEALALL
Mo BEI|Y HE B2
Cel: BrEStE R HY| U e (crl ®a)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OBEND0 2R8 272 a0l
90,000& =10CH 900
OSZd USRS 228 4K 7
250, 000& =34 750
Odgsa 2d &4 2 500,000 *23| 1,000
Os2n 228 MX L HUAESK, SA X
& 1,000,000 *14] 1,000
OEgd R A HAlZ 7,500,000 *14] 7,500
OstEs 22 U4l 3128 S2I|&H
9,000, 0003 *14] 9,000
OBEU2Y 299aA3 22
70,000& x 10 »23| 1,400
02 8323l 25,200 35,200 A 10,000
Oss B8 Jtg 500,000 *14] 500
OdAA & Y A5 A 180,000& *53| 900
Ogt=3 =283 &3l 300,000& =13 300
Ox=s d=2g3 g3l 200,000& *13] 200
OBEU2Y 29983 22
70,000& x10H »23| 1,400
OAYNE ZSHUEA U HEISHY
550, 000& *23| 1,100
OBESSZ WS)| HIZA 248 L A9
a3l 3| 150,000& 23 300
OstES 23 A2 ALEH S|
5,000,000 %14 5,000
OBELS HISDE L HA(MAIA 2 720
2) 2,500,000 *23] 5,000
OBES2 MLl &I A4 22 (200kw)
500, 000& * 12| 500
OBELSH 4 U 2ZHIZ ALFY 9
X dl 200,000& = 10CH 2,000
OBELSH TX)| L AMEH ALFY 9
Xl 600, 000& *2& 1,200
OstEs2® M| 2 ZULH ALEH S
u]l 1,000,000& x2& 2,000
OBFESISZ SHIFE L MOC AL EE S
1,000,000& x2& 2,000
OBESSZ WS CCTVEH AILEE X4l
350,000& »8CH 2,800
202 odl 2,400 2,400 0
01 =2 YI 2,400 2,400 0
OBELS U ZSH0INIT BRNE 28
200,000& x123| 2,400
206 M=t 6,850 6,850 0
01 = bl 6,850 6,850 0
ORESEER 424 IXNRE JY(2EX, &
I, 008le 8) 700,000 *13| 700




ZAE A A
2o =#F 2
=13 S al

A EE - e (3) - HRAE - Ol &+ o4 SSa HmEET
ORE BEE 437¢ 500,000 »23| 1,000
ORsE B8 MsH 250,000& x2& 500
O=4& ZTAHIY 250,000 » 14! 250
O&AlY, oA HOYEE Y FAES
200,000& »12& 2,400
JIES8 L IR (XS, dEZ=, HO
g) 50,0002 x 1001 x4 & 2,000
401 Al HIZ 201 8] 46,600 16,600
01 A& HI 46,168 16,492
OEESE JIHAY =5 HI WHBA
10,000, 000& *98.92% 9,892
EUSH L5 MAL FUIBA
10,000, 0002 *98.92% 9,892
EdES2 = F AL WHSA
10,000, 0002 *98.92% 9,892
EUSD BSH(5 40 B2X) oM
10,000, 0002 *98.92% 9,892
Eg=2 2o =3 At 6,600,000& 14! 6,600
03 Sl 432 108
Egs2 JHA 5 BZ WAHSA
10,000,000& *1.08% 108
EoSR =5 JMAL FHIZA
10,000,000& *1.08% 108
Egs22d 5 ZHANE wHSA
10,000,000& *1.08% 108
Eo2n EH(59 40 UEX) oM
10,000,000& *1.08% 108
2RSS s 22 312,534 A44.219
SAYBLEHLH 29 L 2ol 312,534 A 44,219
4 HTLFH2 2 312,534 £44,219
101 124 dl 80,414 33,065
04 JI2ZtHZ22XREES 80,414 33,065
OFEZU HE2C JI2ZH 22X 27,507
Ry 66,8003 x248 «1H 16,567
=== 66,800 x52 »1H 3,474
AN2H2l=% 8,350 *1.5%15AI 2tx 128 x1H 2,255
422 66,800 *1.5+52& x1H 5,211
Ostutd T2 28X J|2HH 22X (&
Ab) 50,502
o 66,8003 x248 «2H 33,133
=5 66,8003 x52 x2H 6,948
S22 RE 66,8003 *1.5%52 x2H 10,421
OXZU =8 HM==E 66,8003 3«63 +x2H 2,405
201 L2l 98,680 2,376
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S HZAEANED
B UANTLIHRY 29
ool HRASBLFIRN 29 2 2o (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 At 22l bl 34,924 34,900 24
Ogst2H| 5,000
O=E %L A2 212 HE
5002 *15,00082 15 7,500
OO0t 22X =&l 8,000 x2H x223| x 128 4,224
O=ZUI (XM B2 S HZord L)
50,000& x2H *363] 3,600
O A 50,000& *88 x2H 8,800
0222 TY(HE 2 2gX)
100,000& 5 %2 1,000
OAagor™ a2t 0I2HE 200,000& «12& 2,400
Os2dI| KA2el U2t E 200,000& x12& 2,400
02 332494l 58,956 59,004 N48
03322 % XA 20,000
OFEU JIXH L AEE KA 2l 30,000
OAagAd 3L &H 600,000& *23| 1,200
OF=ZU AUW.2 34249 1,500, 000& *53] 7,500
O&EEN 228 34| 1,600& *20L*8& 256
03 S AF2 H H 4,800 2,400 2,400
OFZHIZ HAI2HY| 1,200, 000& *43] 4,800
202 04t 1,000 1,000 0
01 2L Y| 1,000 1,000 0
OF2W =Tz "Wxord 500,000 23| 1,000
206 M = Hl 7,500 6,500 1,000
01 X2 Hl 7,500 6,500 1,000
O&Ala & S 2¢ 1,000, 000& * 14! 1,000
OFAEE ¢ 500,000 *33| 1,500
OstnHHM =230 7Y 5,000& *1,0004 5,000
401 Al HIL 201 68,000 43,000 25,000
01 Al&H| 68,000 43,000 25,000
OO0IATAIE HEI| &M 6,000,000& *13] 6,000
O&AlA el2da 7,000,000 *14] 7,000
OAFE XEtEct B3 A 20,000,000 *14] 20,000
OZXdX &% S AN Al 5,000,000& x 14! 5,000
OAHFE sS4 Y3 A 10,000,000& » 14! 10,000
OetZ2ME A MIIBH&E A 10,000,000 * 14! 10,000
OFMEG 2 402/ X HE A
10,000,000 » 1Al 10,000
405 KHo&HFE S HI 56,940 162,600 AN 105,660
01 JHAHE 2 Z 5 S H 56,940 162,600 A 105,660
OXANEL) & 2] 2,600,000& = 1CH 2,600
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